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Inverse Trigonometric Functions CM23M120201
1. Find the domain of:
(i) f(x) =sin""VxZ2 — 1 (i) f(x) = 2cos™! 2x + sin™' x (iii) sec™*(3x — 1)
2. Evaluate:
(i) sin™* (- ;) +2cos™ (- g) (ii) tan™1 (— %) +tan™!(—v3) + tan™? (sin (— g))
(i) cosec™ (2 cos ) (iv) cot™ {2 cos (sin™* ()}

. -1 3 -1 5
(v) sin {cos (— E) + cot (— E)}
3.1f (sin ™t x)? + (sin™* y)? + (sin~* 2)? = 2, find the value of x? + y2 + 72,

4. Write each of the following in simplest form:

(i) tan™t {@},x #0 (i) sin {2 tan~! \/%}

5. Prove that:

i in-1= -13) _ 6 ) 22 it = 1 (2

(i) tan (sm ;T cos 5) = (ii) s~ zSin - =_sin ( . )
6. Solve:
(i) cos{2sin"1(—=x)} =0 (i) 5tan"x + 3cot™lx = 2m
(i) sin" 124+ sin 12 =L (iv) cos™ ' V3x + cos1x ==

X 7% 2 2
7. 1fsin"'x 4+ sin"'y = Zand cos ' x — cos~' y = =, find the values of x and y.

3 6

8. If (sinT1x)? + (cos™1x)? = %, find x.

9. Solve: 2tan"!(sinx) = tan"!(2secx),x # g

10. Solve: tan™!(x — 1) + tan"* x + tan™*(x + 1) = tan™* 3x.

. 41 12 _1 4 _ =il
11. Sum the series: tan '=+ tan =+ tan ' — + -+ + tan ! ——.
3 9 33 1+22n-1

.1 2 _q 1-b? 1 2 -b
12. If sin"? =% — cos™! — = tan"! =, then prove that x = —.
1+a 1+b 1-x 1+ab

2x

13. Show that 2tan™! x + sin~?!

.z is constant for x > 1, find that constant.

, - ) 6
14. Prove that: 2tan™? ( a—btan—> = cos~! (M)
a+b 2 a+b cos @

.2, _q (3ab*-d? 2, g (3xy?-x3\ _ _1( 2ap _ _
15. Forany a, b, x, y > 0, prove that: 3tan (b3_3a2b) + 3tan (y3_3x2y) = tan (_a2+ﬁz)' where a« = —ax + by, = bx + ay.
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